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However, — STORDMY FTORDM B DY 29977 IRM oW KD 9aN
if he did not forget the essence of n2w, but just forgot that today is
naw, what would the 17 be, that he is 291 a nxvn for each 7a8»»

OVERVIEW
The X 13 is presently assuming that according to HXmw1 27 if someone once
knew naw 2p°v, and subsequently forgot naw 2@y (this is referred to as 727
Mow M10271); he is naw %5 %y 21, The XX questions that if this is true, then
why does the mwn state that n2w Y ¥70 (which the X 3 [rightfully
{according to the Xi3pon}] assumes to mean naw 2vaw now) he is o8 20
naw, when the mwn should have stated that mow 710271 97 is AW IR 20
and certainly that n2w Qyaw noW is AW IR 20,
[At this point it seems that if the 71w»n would have said that 12w 710291 757
naw oK 2°m, then all would we well, for we would know both, that =7
Mow 710271 is Naw 7oK 271, and we would also know (with a 19w 92) that now
naw ovaw is (certainly) naw o8 27 .]
The X713 then answers this (previously mentioned) question by saying that
naw Ty v117, really means now 710271 7037, If we are to assume this then all
should be well. However the X3 1s not satisfied with this answer, and
questions further, that if n2w 9p°y ¥71°7 means that mow 710271 "o is 79K 20
naw, then we may infer that naw ovnw now will be 798%” %OK 21, so
therefore why does it say 7oX?1 98 21 121 naw KW y70, it should have
said "2 paw ornw mow. The contradiction in the X3 is quite evident.
Originally we are told that the 7w»n should state mow 710291 %571 and we
would readily assume that the same 77 would apply by naw avaw now,
namely that he is nNaw oKX 2»1. When the X723 then states that this is actually
what the m1wn is saying, the X723 infers that n2w OvAw £OW is not the same as
Mow 710271 757, but in fact naw 21w now will be 798571 98 2071,

— 591 P19IY 1PY NI PHYY 13299 NN

The 3'""9 finds this to be astonishing! How is the X723 able to infer this —
that since n2w 7p°y 21w means that he once knew naw “p°v, but now he forgot it, and the
17 is that nawy naw 93 v 21, and from this the X723 infers that if he knows naw p°y, but
forgot that today is naw, he would be 79892 79891 95 H¥ 27n, this inference does not
necessarily follow, for —
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— N3V NV 55 HY NOR NINTNI NINTN U2 JY 2990 1N ) NNIY NIT NN
We can say that if he did not forget naw 2p°v he is also not 2%°1 for each
7a8oR, if it was NIOXP1 17N naw naxw, rather he is 291 only one nxun for
each naw -
— NAY DAY 99913 M5
Just as the 77 is in the case of one who once knew naw 7'y, and later he
totally forgot n2w p°y -

If you will ask; if the 17 by naw naw is the same as 12w 710291 7°57, then why do we say
the 17 by mow ;10291 o7 and not by naw araw nowy naw Py y1? The answer, says
mooIN, is obvious —

— 159975 NN 19V Y3) NV 9H1DaY 9591 NI
For the mwn teaches us that mow 71929 29977 is MW Naw 92 5y 270, and
certainly’ this case of NI NN Naw nxww, is surely 21 (only) for each
naw, but not for each 7oX97% (since there is only one 3w of forgetting that
today is naw). MvoIN strengthens his point by concluding; as the X7n3 itself
previously asked! On x,n0 77 the X113 asks if 19w Mo 137 is N2 NAw 93 Yy 277, so
why does the mwn say that the nawy naw %2 %y 2vn is (only) by naw 2p°y ¥71°17 and forgot
that today is naw, instead the 73wn should have taught us that 3 ¥ 21 nOw 710271 °o7
naw1 naw and I would know for sure that naw avaw now will be 211 for each 2w (only).
We see then clearly from the question of the &1, that if we were taught that 710291 737
now is NawY naw 95 v 21, we would assume that N2w avaw now, would also be 93 %y 21
nawy naw (only) and not 7138711 7OX91 23 Y, so why does our &3 here infer differently,
that if it says that nawy naw 95 H¥ 20 now 710271 %571, we would assume that 2w now
naw will be 7o821 79K97 95 9 21! The X713 seems to be contradicting itself!

moon will now discuss s""w1 interpretation and refute it.

— YTNNR INY DD XD NANDMY NANDN U5 HY 299NT PITT DYVNPA YOV N1
And concerning that which >"w9 explains that the X3 infers that where
naw avrnw now he will be 217 a nxvn for each 1o8%%; the inference is since
the mwn did not combine these two cases of oW 7027 7’377 and 1AW MOV

" There is obviously more culpability in naw avaw nows, than if mow M2 1237, because the former is
presently aware that there is the concept of naw, while the latter totally forgot about naw p°y, so if 727
mow Mo is NAw 9OR 21 certainly naw arnw nowi is 20 for each naw. It is possible that '0n may have
assumed that it is this w"2, that may have led the "3 to assume that naw ovaw MW is 20 more than "7
mow 1027, so it should extend even to 71871 728 271, However, '01n rejects this line of reasoning, because a
"> may give us reason to apply the same 2177 to the 2 as the 9p, but that certainty can only extend to the
extent that mow 71021 7"37 is NAw 25X 27, but no more.
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naw, together. If the 7 is the same in these two cases the 71wn should have stated:
— DAY NIV Y5 DY 29N NAY APOY YT NNIYI NAY 970Y Y11V N
‘One who knew naw 9y and forgot it and one who knows naw 2w, but
forgot that today is naw, in both these cases the 1°7 is that he is 3277 29n
nxvn for each naw’ -
— NANYM Y3 HY XYY DAY NAY Y5 Y NPT ¥nRvn Mg
This would be understood to mean that he is 211 only for each naw, and

not for each 7o8%%. Since the mwn did not combine these two cases together but
rather stated only, that in the case of naw 9y now: is he nawy naw %5 %y 2»n, this
omission of the case of naw 011w noW, teaches us that in that case the 1°7 is different, that
he is not nawY Naw 95K 2°n, but rather 728711 79897 93R. This is s""w1 interpretation.

mooIN rejects this interpretation:
- N )9V U9) NV 9HDa5) 9951 NPT DYDY 7599 9351 19 ONRYT PNY 13939 AN PN

The 59 does not accept this interpretation, for if this is so, that we can
infer from the omission of Naw 27w nOW, that in that case he will be 92X 21
TORM 7oKRYn, then how did the X 13 previously ask: let the miwn state only

now mIwaYY 957, that he is 2wy naw %58 217, and we would certainly know
that naw oYY nOW is N2WI NAW IR 277 -

— IPIINYNY TPIVNN NY NAT yWnT
For that question indicates that this case of naw ovaw now, is not

necessary to be mentioned in the mwn if we would be taught that now 710391 7
naw oK 2»; but according to s™"w interpretation this is not so, for —

— ANY) NN YN 2990 IPNT 1IINIYNRY TIIOYIN 93 N
This case of n2w 1AW noW is also necessary to be mentioned in the 7Iwn

to let us know that he will not be 2°°17 for each 72852, as *"wn suggested that
this is what we would have thought had the mwn only written “now M3 31,

moon will now offer his explanation:
— NN 19V Y9 NOY 91020 9991 25D 9INPT DIYDT PHNS 13939Y AN

* There may be a subtle difference between that which 'on mentioned previously, before discussing """
interpretation, that there can be no inference from the 71wn that 72871 958 21 naw ovnw noOw, because:
"7 KT w21 M1 0 X1M"; to the present rejection of s""w1 interpretation. Previously '01n assumed that
the inference was based solely on the fact that naw ovaw now is more MR than N2w p°Y now, therefore it
should be 21 even 72K 2oK. This assumption '01n dismisses easily because this basis in insufficient, see
footnote # 1. Here however *"w" has a stronger 21°7; why did he not include both cases in the same clause if
their 0°1°7 are the same? '01n replies to this, that your point may be well taken, but the &713 obviously did
not feel that this 17 is strong enough, as was seen how the v"pw of the X3 flows as explained o°192.
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The °"'9 maintains that previously when the X713 said, ‘Let the 71wn state

that mow 119291 79557 is 2wy naw 958 21 and certainly in this case of mow
nw araw’ -

— U199 991 NYN NIwNa Y55 7mn0Y NI4T 999919 rya NY
It was not the intention of the X273, that the case of naw o1nw now, should

not be stated entirely in the 7w, but rather this is the meaning of the
'R question —

— DAY D5 DY NIN 29N 10N NP XD NAYI NAVY D DY 29N NP

Since the m1wn states that ‘he is 2917 for each naw” and the 71wn does not
state “he is 2°917 only for each naw”’, and had the mwn said that -

— DINDMY NONDN Y3 Yy NI ynwn M1

then it would be inferred that he is not 21 for each *798%% — so since the
mwn did not word it in this way, which would have allowed us to infer that the mwn is
(also) teaching us the limitation of his 21r, that it does not extend to each 72871, but
rather the 771wn gives us its present quote — from this -

— DAY DAY Y9 HY 29NT JIMNUNRY XN NIVN PIINN 17087 yIUnN

It can be inferred that the main thrust of the 7w is to inform us about
his nxvr 2197 that he is 2917 a nRvn for each naw

— NANIN Y DY 299N 1INT NIV N

However the mw» is not concerned about his 91wp, that he is not 21 for

each 5.‘!:8’7?:, since — as was mentioned before — the 71wn did not state ¥ X?X 2°°77 118
naw 9.

— DAY Y5 Yy 25N INN 19Y 931 290 KN 1T NIY DAY 9997 %10Y 15 ON)
and if this is true that the intention of the 71w» is only to emphasize the 211
and not the Mo, then obviously let the mwn state that maw m©@a» 27 is
nawy naw 93 Sy 2»n which is a greater w7on that he is NAwY Naw ox 20
even though he is a naw 7’y n2w and we would certainly know that row
naw arnw is naw v Yy 291 -

— N33 YNNI NINNY T 1IN K

? For at that point in the X3, the assumption is that naw avaw MW is 20 only Naw 2% and not 789 72K,
so if it would have said only naw 2o& 21 727 71027 MOW, we could have assumed that naw ovaw mow, in
which there is a stronger reason to be 21 him, he would be 7277 958 211 Therefore we cannot say that
the intention of the X713 was that the 17 of naw o1aw ndow should not be stated at all in the 7w,

* Then the X3 could not ask that it should state X7 "1 7ow M10271 "o, see following footnote.

> For if the intent of the 73w» would be to emphasize (also) the M that he is only naw 2% 21 and not 928
OR?7, then how can you ask that it should say naw 1p°y oW instead of naw ovw now, it may be preferable
to state Naw 0w now, in order to teach us that even then he is only naw 25X 21 but not 79X71 7K.
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And it would not be necessary to state the case of naw 017w oW in this
clause where he is discussing the 21n of naw 7P’y nMoW:; because we can certainly
derive the former from the latter as far as naw 2> 9¥ 21’17 is concerned. However this is not
all that the X773 required, that naw 1AW now should not be stated in the 71wn at all -
— PINN X222 9N 9N 291D NYY MN NON
But rather he should have stated this case of naw 0w rnow afterwards as
a separate clause, that -
— DAY NIV Y5 DY NIN 29N 1IN NAY 9P YT1N
‘One who knows naw 9p°w, but forgot that today is naw he is 2917 only for

each naw.’ The reason why we should add a separate clause for this case is not to teach
us that he is 2>°11 for each naw, for that we know already from the previous case of 12w
naw 2p°y, but rather the reason to add this as a separate clause is -

— N9 95 YY 29N 1INT 1IPINYNY

to inform us that he is not 2>1 for each 7897, since it is 2w nww and not’
MR N

The s'Xmx question consists of two parts: a) that instead of saying ¥ 21 naw v v
naw %5 (which the X3 understood to mean naw ovaw now) the mawn should have taught
this 1°7 that naw 25X 2* 1 in the case of Naw 7p°y oW and we would certainly understand
that it applies to naw aoraw nwn as well; and b) In order to prevent any
misunderstanding concerning N2w DAY 1210, the XN is insinualting8 that we add an
additional clause nNaw 95X X9X 21 WK naw 01w mOWwn. To which the & n) replied that
naw P v ¥7°7 does not mean NAW 21w 1oW, but rather n2w 7y 1ow. This answered the
first part of the question. What still needs to be addressed however is how do we know
that naw ovaw now is not 7oK1 95X 21, which was the second part of the original
question, in which we asked that the 71w» should add an additional clause saying that row
naw 93 v XHX 27 1R 2w avnw, from which we would know that he is not 938 271
7oX7. This question was not addressed, for we do not find such a clause in the mwn,
therefore, '01n continues —

= NONDNY NINDNI DO HY 29N INND NANOY XY YAN 929V 9T RNOYN)

 We obviously do not expect the 71wn to word this information in the complete negative, that P>y y71°7
TOR?M IR 20 K naw, for that would be contrary to the thrust of the entire 7awn that it is informing us of
the various 2’211, and not the 2°1v5 alone (but see w"21 7"7 '0wn). In the way '0I1n presents it, the 71wn
would tell us the 21°17, but would also clarify its limitation.

7 See X now that the reason we might have thought that naw naw is 19Xn %K 277, is because by naw naw
as opposed to N2w p°y 12w, he is aware of the various NM2X77, and that may be a sufficient pon% 737

¥ One may say that '01n arrives at this conclusion that there is a second ‘hidden’ question which is not
explicitly stated in the X773, from the very fact the X7n3 is presently assuming 'maX%7 93X 271 7moWw K7 22K/,
and the 7wpn did not have the opportunity to conclude his thought before the 1¥7n replied to the first part of
his question, whereupon the 7wpn inserted this (second) question in a slightly different manner 2"v1.
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And now the s'®77) inference is valid, for the X3 says that even if we
accept your premise that Naw p°y 12Wn means 70w 2"0XY 7°7; but if the
person did not forget naw 7y, but only forgot naw 217w what may we

infer, obviously that he is 291 for each 728%%. How do we infer this? —
iAW) NAW Y5 KON 2990 1IN SNPINN NA3 93 N9

since the mwn did not state in an additional clause'® that he is a»n only

for each naw, the only reason why there is no such a clause is because the "7 in fact is
different, that he is 72877 22K 2»n, therefore the X3 continues with its question >IN
31 PV YT °IN0D N1 R VTR

Summary
We can infer that naw 217w nOW is 798 99X 20, from the fact that the mawn

did not state in an additional separate clause that X7X 2> 119X Naw Py NOW:
naw 20X, which was the (true but ‘hidden’) intention in the original question
of the X713, when it asked "2 mow 710291 7°57 "1n°%, that there should be
another clause to define the limitation of naw avaw now. The reason this
clause is lacking, infers the X713, because in truth there can be no such
clause, because 79877 YOR 2717 NAW D1IW MOW.

Thinking it over
1. Can we differentiate between; a) the reason why we would assume that
TORO1 DIR 271 naw ovaw now, and b) the proof to bolster that assumption?

2. In what way 1s bwd M0 more similar to the original X" of '01n (before
he quoted s""w" interpretation), than it is similar to s"" interpretation)?

NI

4"

3. Why cannot n1901n use his type of answer to explain s""w1 interpretation
as well, that the jwpn did not mean that we should exclude naw oynw now
completely, but rather it should be said together in the same clause with 73°35

nov 710291?

? See ‘Appendix’ for a translation of the >"\n comments on this 79010 and his explanation.

' The X"wan points out that truthfully we cannot infer that 79892 93 %y 21 naw D1Aw oW, because since
the mwn continues that MR N NAW NTT is 79X 29X 2>n, that obviously proves that naw naw is not
TORPM POR 21 as the Rny itself states. Nevertheless the 71wn should have been clear right from the outset
and not depend that we would be able to infer this from the "1 °"1n21 w"»y ,X9°0.
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APPENDIX"
— NN 99 5y 291 139N FYIa[NPY (KDY SNINN XAa 1Y 530D K11 99917 /591 79

According to the v'"1 who infers that n2w 2>y ¥71°77 is not 798971 20K 2711 since the
mwn did not teach us a separate case that n2w 55 ¥ XPX 217 1R NAW RIIW 1OWT,

from where it would be understood that ‘he is no 21 for each 79897’ this

explanation -
— 19990V ROYDNT NNPINN N2 235D TPIVNIN XD NNT D AW»NI NY

Does not satisfy me, for it is not necessary to mention a separate case that y7°7

naw Py is not 79851 9oX 2211 for we know that from the X2 -
— NONDMI DO HY 29N NAY NINY Y111 1INPTN

For since the X590 states naw X372 Y7197 he is 7o8%% 92 By 2997 -
— maNYn 95 Y 2990 19X INAY XD YHUN

This indicates that if he forgot that it is n2w he is not 29> for each 772852 -
— NN 19V 99) DAY 9PY Y10 5311PY TINDA 099 INN IV

And furthermore what does the X722 shortly ask let it state naw sy Y717 is

7oK1 22 Y 21 and certainly naw Xw ¥ is 220 for each 78 -
— NONYNI U5 DY 29N NINY NAY 59 Y1191 NI 7298 %N INNPN

Why is it necessary to teach that naw ap % 71957 is 7oRD% oK 297 -
— 59973 NPINN N2 29 NITH 1Y 199NY XM

When we already know this since the 71wn did not teach a separate case of
naw 9p°v ¥y71°1 is only 21 for each naw; this proves that he is 217 for each 7ox8%7 as
the X713 asked originally.

The >"n offers his explanation:
— DAY 9P ¥1191 19V Y)Y NYTNA NIV 910D 9991 25D 7999 DYDY 9199 NI 1Y)

And the explanation would seem to be that previously the X772 asked let it
teach us now mwEa™ 7907 explicitly (is naw 9> v 2»1) and we know with a

certainty that naw a»sy ¥71°7 (but was naw ovaw n2w) has the same ruling -
— NAY 99029 99917 19V Y91 19¥NYT NaAY Y3 HY 29NT 2an1Y HHo P98 N KD

For it would not be necessary to teach that naw v ¥7v1 is naw %2 v 2»n for
this we derive with a @'> from now m102% 29277, I would also know that v71°73
naw oy -

— 95 NAY NINY P11 XD VPITN NININ Y3 Yy 2991 1INV

Is not 7128%% ®2 ¥ 2917 since the X2 0 states Naw RITW P77, ete. is 7oxHM YK 277 -
— NANYN U5 HY 299N 1R NOWI NAY DY YT1NT ¥NRIYN

' This is a translation of the *"\n on the margin of the X3,

12 See own 227 (in 'o MR TR R"WwAnn) who amends the 'wasn® X9 to read 'wanw'.

" See Hxw* WX who asks that perhaps N9X%» N is 20 only 79892 93 9v (one for all the Mnaw); however
by naw naw he may be 21 for each 73871 for every naw.
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This indicates that naw 2" ¥79° and forgot that today is naw is not %> b¥ 20

72897, This is valid if the 73wn would have states explicitly fow 510291 7271 -
— 99V 7599 NIY 910D 9951 13991 NAY POY YT UNT NNYN YaN

However now that the X7 n3 answered that naw 27" ¥71° means 1w 7102 927

(but it did not state explicitly now 710291 7°377), the X3 properly asks -
— NANDNI Y5 HY 29N MNP NNOY Y YaN

But if he did not forget naw 77y he just forgot that today is n2w what is the rule

then; that he is 72897 %5 % 2917 and the proof is -
— PAY 9P2Y YT11PD VP ONNN 19 ON NNIWI 120 29N 1N INT

For if he is not 719897 90K 2%17 but he is like naw 2y now (which is 21 only 90K

naw), then why does the 71wn use the expression N2 P YTI947; for this expression

DAY APy YT -
— ANSY XY 99INT 29V YNYUNT

Indicates more that we are discussing that he did not forget n2w 77y and if the
mawn really meant now 710271 71°07 then the mawn -

— 90 NI ¥IYN MHNT NIY 9IDAD 9951 NITNA INMY N9 M
Should have stated explicitly naw n392%1 79277 which would have been a greater

novelty (that [even] now 710291 %37 is N2W 22K 2°0)-
— NOYDT N22 Y993 %1 NANYN Y9 by 29N NNOY XYW INTI NIN

So we must rather say that by naw v naw 8% he is 217 for each 7o8%» and

this is included in the case of the X950 where it states 79891 93 DY 2711 191 NAw R Y7077 -
—Nav 9Py y1NT NIYIY INN VP77 o8N IV NY XYY I9AY

And therefore (if we assume that n2w Py ¥71 is 79872 95 H¥ 2°°11) we cannot be

mistaken when the 11w» chose the expression naw %y ¥7197 -
— N2 NAY §I1DaD 9991 VPI XD

And it did not state explicitly 7o n22%1 995577 because we all know that naw P>y y7v
(meaning that he merely forgot that today is naw, he is naw 958 2°°17); the X3 now concludes its

question -
— 7191 NAVY NNV Y711 NI’D NIIN

Let us say the X5°0; one who is ¥7 that it is naw, etc. is 7ox% 7% 271 -
— N9YDA NNOY N9 NaY 929 Y11 NYTHA 2N NN ON Nnbva

All would we well if the 71wn would have taught explicitly in the X2 that
naw 7w ¥ and he did not forget about naw he merely forgot that today is naw (and
the middle case would have said 7mow 730291 9°07 is Naw 95 H¥ 2°°0), then -
— NYI97D 999V NN NOYDT 19V D1 1D 19997 "N
We would have known certainly that naw X1w y71°77 is 708?11 998 211 from the
XD°® which stated that even 2w nxaw is 719871 93X 221, then all would be well as I
explained -
— NOYDM 1PVNY XY ANOY KDY NAY 990Y Y1907 NOWH YaN
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However now that we cannot derive from the X2°0 that X®) naw =pw Y713
FIMOW is 1ORYM IR 27 -
— NANDN Y LY 29N NAY NINY Y199 NPIT ¥NWUN NN NON
But rather on the contrary it appears that only naw Xy »7v is 928 290
FORYA, but not NIw N -
— NIVID ¥NYUNTI NNOY NI NAY PY Y1192 5999197 ¥NRYN RNYNN )59 ON
If so it will be necessary to say that the middle case (of n2w p°¥ ¥y71°17) seems to
be discussing where he knows naw 9% and did not forger it (he merely forgot
naw o1nw) as the language of naw “p°v vy71°17 indicates -
— DAY Y5 DY 29N 1N NNIY JAN NNOY RD XPIT ¥HIYM
And it also indicates only if he did not forget naw 7>y but if he forgot =p°w
naw he is not naw YoK 2% -
— N2 NNV 9I02D) 9997 21D 299N INY
For if (even) naw 2p°y now is naw 75X 217 then the 7iwn should have stated
explicitly 7row m9023%1 99557 is naw o8 2°n -
:[02Y MODIN] HIYY 799995 NNOY DY NAY 9P Y1191 19V U9
And we would certainly know that naw 9 »71°17 and did not forget it is 2%n
naw ox as I explained previously.

In summation: the *"\n maintains that if the mwn would have said explicitly mow 710271 %37 is
naw 93 9y 2»n, then we would know that nmaw naw is 21 also (only) naw 93 %y, but not 93 %y
70X (because of the X9°07 Xp1>7). However now that the X3 maintains that naw p°y y71°7 is
referring to mow 710271 27 (even though the obvious meaning would refer to naw naaw), therefore
we can assume that Naw naxw is 7871 92 Hv 21 (for otherwise the mwn would have said 927
Mow M09 is NAw 93K 21 and certainly naw naw; and T would also know that naw naw is not 21
79871 93 5y from the exclusion of the X9°0); however from the X9°0 it is obvious that naw naw is
not 79871 25 %Y 21 (only MIROM NI is 79K 93 ¥ 2n), then we must assume that Py Y710
naw means NAw N2 and not MW 710371 737 (otherwise it would have stated explicitly 710271 707
mow), for by mow 710271 79577 he is not 2>°11 (even) NAw 93 Yy, but rather NAX 2>°11 which contradicts
our assumption regarding the ruling of Hxww1 21,
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